Hollywood Beach Streetscapes

Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Guaranteed Maximum Price based on plans received February 17th, 2016 Issued 5/25/2016, REV. 6/9/2016

From:	Burkhardt Construction, Inc. Attn: Marc R. Kleisley 1400 Alabama Ave., Suite #20 West Palm Beach, FL 33401 Tel: (561) 659-1400 Fax: (561) 659-1402		
Owner:	City of Hollywood Attn: Moshue Anuar 2600 Hollywood Boulevard Hollywood, FL 33020 Tel: 954-921-3497		
Designer:	City of Hollywood Public Works 2600 Hollywood Boulevard Hollywood, FL 33020		
Plans:	See attached Plan Log		
Location:	Hollywood Beach Oklahoma Steet to Lee St., Hollywood, FL 33019		
Proposal Date:	5/25/2016, REV. 6/9/2016		
Direct Cons	truction Cost	\$	9,894,869.65
Direct Cons General Cor		\$ \$	9,894,869.65 1,100,695.39
General Co		·	
General Co	nditions	\$	1,100,695.39
General Con Constructio	nditions n Management Fee	\$ \$	1,100,695.39 1,085,760.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency	\$ \$ \$	1,100,695.39 1,085,760.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency .andscaping Contingency For Streetends	\$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency Landscaping Contingency For Streetends Paver Contingency For Streetends	\$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency Landscaping Contingency For Streetends Paver Contingency For Streetends Vater/Storm Contingency	\$ \$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00 75,000.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency andscaping Contingency For Streetends Paver Contingency For Streetends Vater/Storm Contingency Restroom Contingency	\$ \$ \$ \$ \$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00 75,000.00 25,000.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency Landscaping Contingency For Streetends Paver Contingency For Streetends Vater/Storm Contingency	\$ \$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00 75,000.00
General Con Constructio Profit Contingenc	nditions n Management Fee y Dwner's Contingency andscaping Contingency For Streetends Paver Contingency For Streetends Vater/Storm Contingency Restroom Contingency	\$ \$ \$ \$ \$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00 75,000.00 25,000.00
General Con Constructio Profit Contingenc C L F N Owner Direct Exceptions	nditions n Management Fee y Dwner's Contingency Landscaping Contingency For Streetends Paver Contingency For Streetends Water/Storm Contingency Restroom Contingency /ertical Elements Contingency	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,100,695.39 1,085,760.00 859,500.00 594,743.48 200,000.00 50,000.00 75,000.00 25,000.00 197,897.39



City of Hollywood

Phase III Streetscapes - Oklahoma Street to Lee Street

Direct Construction Cost

Prepared by Burkhardt Construction, Inc.

Item Description	Quantity	U/M	Unit Price	Amount	Labor	Equipment	Material	Subcontractor	General/Rental	Subtotal
MAINTENANCE OF TRAFFIC				\$184,635.96						
MOT PLAN	12	2 EA	\$200.00 \$	2,400.00				BOB'S	2400	240
WORK ZONE SIGNS/NO TRESPASSING SIGNS) E/D	\$0.30 \$	2,628.00				BOB'S	2628	262
BARRICADE TEMP. TYPE I, II, VP & DRUM	146000		\$0.20 \$	29,200.00				BOB'S	29200	2920
BARRICADE TEMP. TYPE III, 6'	7300) E/D	\$0.40 \$	2,920.00				BOB'S	2920	292
ADVANCE WARNING ARROW PANEL	500	DAY	\$12.00 \$	6,000.00				BOB'S	6000	600
STEADY BURN &/OR FLASHING LIGHTS	73000) E/D	\$0.30 \$	21,900.00				BOB'S	21900	2190
HI INTENSITY FLASHING LIGHT, TEMP. TYPE "B"	17520		\$0.35 \$	6,132.00				BOB'S	6132	613
VARIABLE MESSAGE BOARD	120) E/D	\$20.00 \$	2,400.00				BOB'S	2400	240
WATER FILLED BARRIER WALL			RNISHED BY COH							
TRAFFIC CONES	10000		\$0.30 \$	3,000.00				BOB'S	3000	300
SALES TAX FOR BARRICADES		I EA	\$4,594.80 \$	4,594.80					4594.8	4594.
POST MOUNTING FOR ADVANCE WARNING SIGNS		1 EA	\$45.00 \$	1,080.00				BOB'S	1080	108
MOT / SAFETY DEVICE SET-UP & MAINTENANCE		HRS	\$31.65 \$	23,106.32	19693.57	3412.75			0000 F	23106.3
WEEKLY SITE CLEANING / DEBRIS REMOVAL		HRS	\$56.33 \$	41,123.86	20514.14	16777.22	0400 75	_	3832.5	41123.8
ORANGE SAFETY FENCE AND POSTS	50	ROLLS	\$194.42 \$	9,720.75	3597		6123.75	0		9720.7
TEMPORARY PEDESTRIAN BARRICADES WITH SCREEN		1 EA		7 500 00	4500		3000	`		750
TEMPORARY PEDESTRIAN BOARDWALKS (ALLOWANCE) DANGER RIBBON			\$7,500.00 \$ \$14.91 \$	7,500.00 745.50	4500		745.5			750
ROADWAY STEEL PLATES	50		IONE REQUIRED	745.50			745.0			743.
FLAGMEN	600	HRS	\$17.99	10,791.00	10791					1079
TEMPORARY ASPHALT PATCHING (ALLOWANCE)		TNS	\$62.62 \$	9,393.73	2501.04	1960.31	2476.13	3 2062	.5 393.75	9393.7
TEMPORARY ROADWAY STRIPING (ALLOWANCE)	150			9,090.10	2501.04	1900.01	2470.10	2002	.0 000.70	3333.1
SPECIALTY MERCHANT SIGNAGE										
TEMPORARY STREET LIGHTING										
OFF DUTY POLICE OFFICERS			NOT INCLUDED							
LIGHT BANKS FOR NIGHT WORK			NOT INCLUDED							
DEMOLITION/CLEARING & GRUBBING				\$570,461.48						
NPDES		4 MOS.	\$1,240.83 \$	29,780.00				2978	30	2978
SOD / SHRUB REMOVAL		3 EA	\$3,126.62 \$	40,646.11	18359.69	11200.17		269	95 8391.25	40646.1
CONCRETE SIDEWALK REMOVAL & DISPOSAL	24040		\$2.97 \$	71,518.40	36578.63	22314.49		750	00 5125.28	71518.
CONCRETE CURB REMOVAL & DISPOSAL	3020) LF	\$5.65 \$	17,051.22	9052.45	5522.37		120	08 1268.4	17051.2
SAWCUT EXISTING CONCRETE	9000) LF	\$1.12 \$	10,080.00				1008	30	1008
SAWCUT EXISTING ASPHALT	47645	5 LF	\$0.54 \$	25,728.30				25728	.3	25728.
ASPHALT PAVEMENT REMOVAL & DISPOSAL	189,565	SF	\$0.72 \$	137,247.70	56822.11	34663.86		3780	00 7961.73	137247.
PAVER CROSSWALK REMOVAL & DISPOSAL	22,206	SF	\$3.01 \$	66,747.45	33281.24	20302.95		850	4663.26	66747.4
TREE REMOVAL & DISPOSAL	24	1 EA	\$165.72 \$	3,977.39	1998.33	1219.06		48	30 280	3977.3
RETAINING WALL REMOVAL & DISPOSAL	15	5 LF	\$18.82 \$	282.31	149.88	91.43			20 21	282.3
STREET SIGN REMOVAL AND DISPOSAL	60) EA	\$57.46 \$	3,447.66	1798.5	1097.16		30	00 252	3447.6
BOLLARD/PARKING METER/POST REMOVAL & DISPOSAL	85	5 EA	\$92.43 \$	7,856.96	4246.45	2590.51			25 595	7856.9
PRIVATE PROPERTY DEMO FOR UNDERGROUND SERVICES	11,304	1 SF	\$3.41 \$	38,563.70	21177.34	12919.06		150		38563.
ROLL OFF DUMPSTER		PULLS	\$600.00 \$	30,000.00					30000	3000
FINAL CONSTRUCTION CLEAN		HRS	\$67.33 \$	87,534.28	36532.03	29877.25		1430		87534.2



Item Description	Quantity U/M	Unit Price	Amount	Labor	Equipment	Material Subcontractor	General/Rental	Subtotal
EARTHWORK AND GRADING		-	\$532,271.94					
ROADWAY EXCAVATION	15,220 CY	\$6.23		49727.93	38751.64		6392.4	94871.97
LANDSCAPE PLANTER EXCAVATION	678 CY	\$12.15	,	3164.58	2466.08	220		8237.46
GRADE / COMPACT FOR CURB	3,385 SY	\$9.87		16910.89	14113.19	220	2369.5	33393.58
GRADE / PREP FOR FLOWABLE FILL	650 HRS	\$59.19		19483.75	16260.4		2309.3	38474.15
GRADE / COMPACT PRIVATE PROPERTY RESTORATION	2,000 SY	\$7.40		7493.75	6254		1050	14797.7
GRADE / COMPACT ROADWAY / STREETENDS TO SUBGRADE ELE. +/10'	23,125 SY	\$1.80	· · · · · · · · · · · · · · · · · · ·	17675.88	21596.44		2428.13	41700.4
GRADE / COMPACT SIDEWALKS TO SUBGRADE ELE. +/10'	4,245 SY	\$5.92		12724.39	10619.29		1782.9	25126.58
LOAD / HAUL / DISPOSE OF SURPLUS FILL	20,000 TCY	\$10.08		7493.75	9937.5	18425		201681.25
FINAL DRESSING AND FINISH GRADING	1250 HRS	\$59.19		37468.75	31270	10120	5250	73988.7
WATER SUPPLY		_	\$406,640.00					
HYDRANT RELOCATIONS	22 EA	\$4,550.00				100100 JOHNSON-DAVIS		100100
WATER MAIN OFFSET RELOCATIONS COMPLETE AT PLANTER ISLANDS	29 EA	\$8,250.00	,			239250 JOHNSON-DAVIS		239250
2" SCHEDULE 40 PIPE FOR IRRIGATION SERVICE IN EACH STREETEND	720 LF	\$15.50				11160 JOHNSON-DAVIS		11160
INSTALL COH FURNISHED WATER METER BOX, AS NEEDED	10 EA	\$93.00				930 JOHNSON-DAVIS		930
ADJUST VALVE BOXES	100 EA	\$215.00				21500 JOHNSON-DAVIS		21500
SAMPLE POINTS	11 EA	\$700.00				7700 JOHNSON-DAVIS		7700
POTHOLING & EXPLORATORY DIGGING	13 EA	\$2,000.00				26000 JOHNSON-DAVIS		26000
WATER METERS / CONNECTION FEES		BY OWNER						
STORM DRAINAGE			\$159,109.00					
REMOVE & DISPOSE OF EXISTING DRAINAGE STRUCTURES	25 EA	\$700.00				17500 JOHNSON-DAVIS		17500
REMOVE & DISPOSE OF EXISTING DRAINAGE STRUCTURES	499 LF	\$25.00				12475 JOHNSON-DAVIS		12475
SHIFT EXIST. CATCH BASIN SOUTH ON CAROLINA ST.	499 LF 1 EA	\$2,500.00				2500 JOHNSON-DAVIS		2500
TYPE B INLET W/ 6310	16 EA	\$3,350.00				53600 JOHNSON-DAVIS		53600
TYPE B INLET W/ 5106-6149	8 EA	\$3,600.00				28800 JOHNSON-DAVIS		28800
18" A-2000 PVC PIPE	499 LF	\$66.00				32934 JOHNSON-DAVIS		32934
18" TIE-IN TO EXISTING W/ CONCRETE COLLAR	11 EA	\$800.00				8800 JOHNSON-DAVIS		8800
FPL POLE HOLDS (AS REQUIRED)	1 EA	\$2,500.00				2500 JOHNSON-DAVIS		2500
SANITARY SEWER		_	\$21,950.00					
EXTEND EXISTING CLEANOUTS (2 ea) - MISSOURI STREETEND FOR PROPOSED	150 LF	\$29.00				4350 JOHNSON-DAVIS		4350
	00154	* ==0.001	t 47.000.00					47000
ADJUST EXISTING MH'S INCL. MAINSTAY TOUCH-UP	32 EA	\$550.00	\$ 17,600.00			17600 JOHNSON-DAVIS		17600
UNDERGROUNDING OF FRANCHISE UTILITIES			\$1,326,803.76					
ALL MAIN COMMON TRENCH EXCAVATION	6425 LF	\$14.86				95475.5 CR DUNN		95475.5
ALL SERVICE/LATERAL TRENCH EXCAVATION W/IN THE R.O.W.	3395 LF	\$14.86				50449.7 CR DUNN		50449.7
ALL PRIVATE PROPERTY SURVEY AND EASEMENT LAYOUT	1 EA	\$50,000.00				50000 ALLOW		50000
Comcast FURNISH & INSTALL 2" CONDUIT (INCLUDES PRIVATE SIDE SERVICES)	15960 LF	\$2.68				42772.8 CR DUNN		42772.8
Comcast FURNISH & INSTALL 1" CONDUIT (INCLUDES PRIVATE SIDE SERVICES)	6585 LF	\$1.62				10667.7 CR DUNN		10667.7
Comcast FURNISH & INSTALL THREE- 2" DIRECTIONAL BORE @ A1A (100 lf/ea)	600 LF	\$28.00				16800 CR DUNN		16800
Comcast COH FURNISHED HANDHOLES (ALLOWANCE)	10 EA	\$864.53				8155.9 CED	489.35	8645.25
ATT FURNISH & INSTALL 4" CONDUIT	6400 LF	\$4.45				28480 CR DUNN		28480
ATT FURNISH & INSTALL 2" CONDUIT (INCLUDES PRIVATE SIDE SERVICES)	14635 LF	\$2.42				35416.7 CR DUNN	4405 70	35416.7
ATT COH FURNISHED HANDHOLES - 48"x48" (ALLOWANCE)	28 EA	\$716.62				18929.68 CED	1135.78	20065.46
ATT INSTALL COH FURNISHED HANDHOLES - 48"x48"	28 EA	\$1,020.00	\$ 28,560.00			28560 CR DUNN		28560
ATT MASTER METER / METER CONNECTION		BY OWNER						
St. Lighting COH FURNISHED LIGHTPOLE/FIXTURE		BY OWNER						
St. Lighting INSTALL COH FURNISHED LIGHTPOLE/FIXTURE SINGLE ARM								(
St. Lighting INSTALL COH FURNISHED LIGHTPOLE/FIXTURE DOUBLE ARM			h =					(
st. Lighting FURNISH & INSTALL 2" CONDUIT + SPARE (9555 lf/ea)	19110 LF	\$2.68				51214.8 CR DUNN		51214.8
St. Lighting FURNISH & INSTALL 3" CONDUIT	815 LF	\$3.52				2868.8 CR DUNN		2868.8
MISC FURNISH & INSTALL 1" CONDUIT FOR IRRIGATION SERVICE	1085 LF	\$2.30				2495.5 CR DUNN		2495.5
MISC FURNISH & INSTALL 1" CONDUIT FOR DRINKING FOUNTAIN SERVICE	1085 LF	\$2.30	\$ 2,495.50			2495.5 CR DUNN		2495.5
St. Lighting COH FURNISHED HANDHOLES - 11"x17"		BY OWNER						(



	Item Description	Quantity U/M	Unit Price	Amount	Labor	Equipment	Material	Subcontractor	General/Rental	Subtotal
St. Lighting	INSTALL COH FURNISHED HANDHOLES - 11"x17"		SEE ELECTRICAL							(
St. Lighting	SERVICE POINT COMPLETE		SEE ELECTRICAL							(
FPL	INSTALL 3-2" DIRECTIONAL BORE @ A1A	420 LF	\$54.60 \$	22,932.00			22932 (CR DUNN		22932
FPL	INSTALL 2-2" DIRECTIONAL BORE @ A1A	980 LF	\$54.60 \$	53,508.00				CR DUNN		53508
FPL	INSTALL 1-2" DIRECTIONAL BORE @ A1A	560 LF	\$54.60 \$	30,576.00			30576 (CR DUNN		30576
FPL	INSTALL 2" PRIMARY CONDUIT	13955 LF	\$2.31 \$	32,236.05			32236.05 (CR DUNN		32236.05
FPL	INSTALL 5" PRIMARY CONDUIT	345 LF	\$2.80 \$	966.00				CR DUNN		966
FPL	INSTALL 2" SECONDARY CONDUIT	8185 LF	\$2.31 \$	18,907.35			18907.35 (18907.35
FPL	INSTALL FPL FURNISHED HANHOLES (SERVICE SPLICE BOX - 24" x 36")	66 EA	\$214.00 \$	14,124.00				CR DUNN		14124
FPL	INSTALL FPL FURNISHED HANHOLES - 48" SPLICE BOX	1 EA	\$1,020.00 \$	1,020.00				CR DUNN		1020
FPL	INSTALL FPL FURNISHED HANHOLES - 30" SPLICE BOX	1 EA	\$440.00 \$	440.00						44(
FPL	INSTALL FPL FURN. 1 PH. PAD MOUNT TRANSFORMER COMPLETE	24 EA	\$880.00 \$	21,120.00						21120
FPL	INSTALL FPL FURN. 3 PH. PAD MOUNT TRANSFORMER COMPLETE	4 EA	\$920.00 \$	3,680.00						3680
FPL	INSTALL FPL FURNISHED PRI SPLICE BOX	3 EA	\$1,320.00 \$	3,960.00						3960
FPL	INSTALL FPL FURNISHED PRIMARY 3PN3C WIRE	1710 LF	\$19.65 \$	33,601.50			33601.5 (33601.5
FPL	INSTALL FPL FURNISHED PRIMARY 2PN2C WIRE	7205 LF	\$13.10 \$	94,385.50			94385.5 (94385.5
FPL	INSTALL FPL FURNISHED PRIMARY 1PN2C WIRE	5040 LF	\$6.56 \$	33,062.40			33062.4 (33062.4
FPL	INSTALL SECONDARY WIRE TO HANDHOLE /OR SPLICE BOX POLE & OVERHEAD WIRE REMOVAL/DISPOSAL COMPLETE	8185 LF 13 EA	\$2.10 \$	17,188.50			17188.5 (CR DUNN		17188.5
FPL	CONNECTION MAKE-UP IN SPLICE BOX	2 EA	\$5,307.69 \$ \$1,250.00 \$	69,000.00 2,500.00						69000 2500
FPL FPL	CONNECTION MAKE-UP IN SPLICE BOX	28 EA	\$440.00 \$	12,320.00				CR DUNN		12320
FPL	CONNECTION MAKE-UP AT SERVICE HANDHOLE	69 EA	\$275.00	18,975.00						18975
FPL	FURNISH AND INSTALL CONDUIT, WIRE AND REQ. SERVICE UPGRADES FOR FPL	2710 LF	\$51.00 \$	138,210.00						13821
	SERVICES - PRIVATE SIDE	2710	ψ51.00 φ	130,210.00			150210 0			130210
COMCAST/ATT	FURNISH AND INSTALL CONDUIT FOR COMCAST AND ATT - PRIVATE SIDE						(CR DUNN		ſ
	(CONDUIT SIZES VARY)	QUANTITY	INCLUDED IN ABOVE	UNITS			,			· · · · ·
ST. LIGHT/FPL	FORM, PLACE AND FINISH CONCRETE DUCT FOR MAINLINE TRENCH	6425 LF	\$17.40 \$	111,795.00			111795 (CR DUNN		111795
ST. LIGHT/FPL	FORM, PLACE AND FINISH CONCRETE DUCT FOR LATERAL/SERVICE	6450 LF	\$17.40 \$	112,230.00						112230
ALL	DEWATERING, IF NECESSARY, PER NPDES REQUIREMENTS		JDED IN ABOVE UNITS	,				CR DUNN		(
ALL	TRENCH RESTORATION (4" COMPACTED LIMEROCK BASE)	5935 SY	\$5.25 \$	31,158.75			31158.75 (31158.75
ALL	POLE HOLDS (AS REQUIRED)	1 EA	\$2,500.00 \$	2,500.00				CR DUNN		2500
				,						
ELECTRICAL	AND STREETLIGHTING			\$976,448.29						
	**COH TO PURCHASE LIGHT POLES DIRECT FOR TAX SAVINGS	109 EA	\$4,544.19 \$	495,316.80			467280		28036.8	495316.8
	**COH TO PURCHASE HANDHOLES DIRECT FOR TAX SAVINGS	120 EA	\$352.85 \$	42,341.49			39944.8 (CED	2396.69	42341.49
	**SIGNED / SEALED WIND LOAD CALCULATIONS (ALLOWANCE)	1 EA	\$5,000.00 \$	5,000.00			5000		2000.000	5000
	INSTALL COH FURNISHED SINGLE ARM STREET LIGHT POLES WITH FIXTURES	96 EA	\$922.00 \$	88,512.00				CR DUNN		88512
	INCLUDING ALL WIRE, GROUND RODS, FOUNDATIONS (IF REQUIRED), BULBS, GFI RECEPTACLES, ANCHOR BOLTS, FOR A COMPLETE WORKING SYSTEM		* • -- •• +	00,01-100			000.2			
1	INSTALL COH FURNISHED DOUBLE ARM STREET LIGHT POLES WITH FIXTURES	13 EA	\$1,086.00 \$	14,118.00			14118 (CR DUNN		14118
	INCLUDING ALL WIRE, GROUND RODS, FOUNDATIONS (IF REQUIRED), BULBS, GFI		φ1,000.00 φ	14,110.00			14110 (14110
	RECEPTACLES, ANCHOR BOLTS, FOR A COMPLETE WORKING SYSTEM									
		110 5	2 00 0332	79 5 40 00			79510 (70510
	INSTALL COH FURNISHED HANDHOLE (11"X17") TO FINISH GRADE	119 EA	\$660.00 \$ \$500.00 \$	78,540.00						78540
	INSTALL COH FURNISHED MASTER PARKING METERS	10 EA	\$500.00 \$	5,000.00						5000
	FURNISH AND INSTALL NEMA 4X PANEL SL1 COMPLETE	1 EA	\$18,424.00 \$	18,424.00						18424
	FURNISH AND INSTALL NEMA 4X PANEL SL2 COMPLETE	1 EA	\$17,930.00 \$	17,930.00						17930
	FURNISH AND INSTALL NEMA 4X PANEL SL3 COMPLETE	1 EA	\$17,930.00 \$	17,930.00						17930
	FURNISH AND INSTALL CONDUIT AND WIRE COMPLETE FOR ALL STREET LIGHTING AND MASTER PARKING METERS	13 EA	\$9,716.46 \$	126,314.00				CR DUNN		126314
	REMOVAL OF TEMPORARY PANEL ON CORNER OF SURF ROAD AND NEW HAMPSHIRE STREET	1 EA	\$1,000.00	1,000.00			1000 (CR DUNN		1000
	PULL WIRE & MAKE CONNECTION TO DRINKING FOUNTAINS	11 EA	\$1,052.00 \$	11,572.00			11572 (CR DUNN		11572
	I BEE WIKE & MARE CONNECTION TO DRIVING FOOTTAINS		φ1,002.00 φ	,						

Item Description	Quantity U/M	Unit Price	Amount	Labor	Equipment	Material	Subcontractor	General/Rental	Subtotal
SUBGRADE, BASE, AND ASPHALT CONSTRUCTION		=	\$707,347.62						
12" COMPACTED SUBGRADE	28180 SY	\$1.44		17231.79	21053.84			2367.12	40652.7
GEOFABRIC (TENSAR BX-1100)	173410 SF			15593.89	4071.67	31026.52		2307.12	50692.0
		\$0.29				31020.52	400040 7	- 14665 00	
12" LIMEROCK BASE ROADWAY / STREET ENDS	23125 SY	\$19.12		106762.34	130442.57		190318.75		442189.5
9" LIMEROCK BASE CURB PADS	3385 SY	\$19.74		25366.31	21169.76		16715.13		66805.4
6" LIMEROCK BASE SIDEWALKS ASPHALT PROPERTY TIE-INS (OUTSIDE R/O/W); MATCH EXISTING THICKNESSES	4245 SY 1800 SY	\$15.99 \$21.74		27293.82 14934.2	22778.46 11705.42	6977.88	13974.54 3168		67871.1 39136.6
	1000 0 1	ψ21.74		14004.2	11100.42	0017.00	5100	2001.10	00100.00
SIDEWALK/CONCRETE CURB CONSTRUCTION			\$420,100.00						
12" COMPACTED SUBGRADE CONCRETE CURB WORK		SEE SITEWORK							
9" LIMEROCK BASE CURB PAD		SEE SITEWORK							
TYPE "F" CURB/GUTTER	832 LF	\$25.00				20800 \	WM. D. ADEIMY JF	λ .	2080
TYPE "D" CURB	2678 LF	\$18.00	\$ 48,204.00			48204 \	WM. D. ADEIMY JF		4820
VALLEY GUTTER	7410 LF	\$15.00	\$ 111,150.00			111150 \	WM. D. ADEIMY JF	₹.	11115
2'X12" THICK HEADER (2-#5 BARS)	5,300 LF	\$25.00	\$ 132,500.00			132500 \	WM. D. ADEIMY JF	λ .	13250
12" X 12" THICK HEADER CURB	700 LF	\$18.00				12600 \	WM. D. ADEIMY JF	R.	1260
6" SUBSLAB FOR CROSSWALKS AT A1A	1,625 SF	\$4.00					WM. D. ADEIMY JF		650
4" SIDEWALK RESTORATION	1,841 SF	\$4.50				8284.5 \	WM. D. ADEIMY JF	<u></u> .	8284.
MASTER PARKING METER FOUNDATIONS	10 EA	\$451.40				2014	2500		451
MISC. CONCRETE PROPERTY TIE-INS (OUTSIDE R/O/W)	5,000 SF	\$4.50				22500	WM. D. ADEIMY JF		2250
F & I FLOWABLE FILL (ALLOWANCE)	350 CY	\$95.85				33547.5			33547.
ADA ARMOR TILE H.C. RAMPS WITH TRUNCATED DOMES (A1A)	26 EA	\$750.00					WM. D. ADEIMY JF	₹.	1950
		=	<u> </u>						
			\$1,453,375.01			070050			
INSTALL 3-1/8" ROADWAY PAVERS	155,976 SF	\$1.75					HLWD STNE		27295
INSTALL 2-3/8" SIDEWALK/STREETEND PAVERS	72,835 SF	\$1.75					HLWD STNE		127461.2
INSTALL PEBBLE MOSAIC STREET NAME	13 EA	\$300.00					HLWD STNE		390
INSTALL TACTILE SURFACE ADA PAVERS	735 SF	\$5.00					HLWD STNE		367
INSTALL REFLECTIVE STRIPING PAVERS	2,365 SF	\$5.00					HLWD STNE		1182
PRESSURE CLEAN & SEAL PAVERS	228,811 SF	\$0.45					HLWD STNE		102964.9
FURNISH & INSTALL POLYMERIC SAND (SIDEWALKS/STREETENDS ONLY)	72,835 SF	\$0.70	\$ 50,984.50			50984.5	HLWD STNE		50984.
MISC. PAVER PROPERTY TIE-INS (OUTSIDE R/O/W)	8,500 SF	\$2.00	\$ 17,000.00			17000	HLWD STNE		1700
TRANSPORTATION OF COH PURCHASED PAVERS FROM YARD TO JOBSITE	13 EA	\$2,500.00	\$ 32,500.00			32500	HLWD STNE		3250
UPCHARGE FOR INSTALLATION OF PAVERS IN STREETENDS IN WAVE PATTERNS	37,210 SF	\$1.25	\$ 46,512.50			46512.5	HLWD STNE		46512.
COH FURNISHED 3-1/8" ROADWAY PAVERS	155,976 SF	\$2.47				363548.06 (21812.88	385360.9
COH FURNISHED 2-3/8" STREETEND PAVERS (ALLOWANCE)	37,210 SF	\$5.30					COASTAL/ARTISTI		19721
COH FURNISHED 2-3/8" SIDEWALK PAVERS	35,625 SF	\$4.95					COASTAL/ARTISTI		176395.8
COH FURNISHED TACTILE SURFACE ADA PAVERS	735 SF	\$6.02					COASTAL	250.38	4423.3
COH FURNISHED REFLECTIVE STRIPING PAVERS	2,365 SF	\$8.54				19057.18 (1143.43	20200.6
		=	Ф70 445 50						
SIGNAGE AND STRIPING SIGNAGE		\$4,201.19	\$79,115.50 \$54,615.50			5/615 5 1	FINE-LINE		EACAE
EPOXY PAINTED ON PAVER BRICK WITH REFLECTIVE BEADS	13 EA 13 EA	\$1,884.62					FINE-LINE		54615. 24500
			\$487,326.03						
CURVED TRUNK COCONUT PALM - 10' CT; HEAVY CAL. "C" CURVED TRUNK	39 EA	\$1,285.00					NANAK'S		5011
CURVED TRUNK COCONUT PALM - 12' CT; HEAVY CAL. "C" CURVED TRUNK	45 EA	\$1,525.00				68625	NANAK'S		6862
MEDJOOL DATE PALM - 12' CT	33 EA	\$5,145.00				169785 I	NANAK'S		16978
FLORIDA THATCH PALM - 8' CT; FULL 5" CALIPER.MATCHED/FIELD TAG	80 EA	\$617.75				49420	NANAK'S		4942
FLORIDA THATCH PALM - 10' CT; FULL 5" CALIPER.MATCHED/FIELD TAG	35 EA	\$706.00	\$ 24,710.00			24710	NANAK'S		2471
CHRISTMAS PALM - 8' CT; DOUBLE BASE/HEAVY CALIPER/FIELD MATCH	12 EA	\$370.65				4447.8	NANAK'S		4447.
CHRISTMAS PALM - 9' CT; DOUBLE BASE/HEAVY CALIPER/FIELD MATCH	16 EA	\$397.13				6354.08	NANAK'S		6354.0
CHRISTMAS PALM - 10' CT; DOUBLE BASE/HEAVY CALIPER/FIELD MATCH	6 EA	\$423.60					NANAK'S		2541.
SEA LAVENDER, 1 GAL; 18" X 18"	35 EA	\$5.80					NANAK'S		20
VARIEGATED BLUEBERRY FLAX LILY, 12"-15" HT, 12" SPREAD	1000 EA	\$3.73					NANAK'S		3730
									8410
GREEN ISLAND FICUS, 3 GAL; 18" X 18"	1450 EA	\$5.80					NANAK'S		



Item Description	Quantity U/	/ Unit Price	Amount	Labor	Equipment	Material	Subcontractor	General/Rental	Subtotal
PEANUT ECOTURF, 1 GAL; 18" X 12"	35 EA	\$2.80 \$	98.00			98	3 NANAK'S		98
FAKAHATCHEE GRASS DWARF, 3 GAL.	80 EA	\$5.80 \$	464.00			464	4 NANAK'S		464
F&I ALL PLANTING SOILS, AS SPECIFIED (24" DEPTH)	452 CY	\$34.00 \$	15,368.00				3 NANAK'S		15368
PLATYPUS TREE ANCHORS	120 EA	\$380.00 \$	45,600.00) NANAK'S		45600
3" MULCH IN ALL PLANTER ISLANDS	52 CY	\$61.54 \$	3,200.00) NANAK'S		3200
FLORATAM SOD	1500 SF	\$0.83 \$	1,245.00				5 NANAK'S		1245
	3845 LF	\$8.39 \$57.00	32,259.55				5 NANAK'S		32259.55
PRE-EMERGENT/POST EMERGENT/SOIL AMENDMENTS	13 EA	\$57.69 \$	750.00			750) NANAK'S		750
IRRIGATION			\$84,154.00						
IRRIGATION SYSTEM COMPLETE (INCLUDING BUT NOT LIMITED TO) BACKFLOW PREVENTER WITH ENCLOSURE POINT OF CONNECTION BATTERY OPERATED CONTROLLER SCHEDULE 40 PVC SLEEVES SCHEDULE 40 PVC MAINLINE & LATERALS VALVES, VALVE BOXES, WIRE	1 EA	\$84,154.00 \$	84,154.00			84154	4 NANAK'S		84154
SPRAY HEADS									
DIRECTIONAL BORING, AS NEEDED									
LEE STREET STREETEND ALLOWANCE			\$167,475.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45 \$	23,074.35				POST&BEAM/STC	ONE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00 \$	4,965.00				5 RANCO		4965
CIP SEAT WALL W/ CAST STONE CLADDING - EXHIBIT C	40 LF	\$426.00 \$	17,040.00) RANCO		17040
PLANTER WALL - EXHIBIT D	131 LF	\$356.00 \$	46,636.00				6 RANCO		46636
GLASCRETE POTTED TREE PLANTERS (ALLOWANCE)	14 EA	\$2,500.00 \$	35,000.00			35000			35000
LOADING ZONE MOSAIC (ALLOWANCE)	1 EA	\$1,775.00 \$	1,775.00				5 PIETRE DESIGN		1775
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00				5 PIETRE DESIGN		1985
9'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$18,500.00 \$	18,500.00) PIETRE DESIGN		18500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00 \$	4,000.00				WM. D. ADEIMY J		4000
6" SUBSLAB	750 SF	\$4.00 \$	3,000.00				WM. D. ADEIMY J		3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00				WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00 \$	5,000.00			5000			5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	2,500.00			2500	O CR DUNN		2500
SCOTT STREET STREETEND ALLOWANCE			\$94,804.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45 \$	23,074.35			23074.3	5 POST&BEAM/STC	ONE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00 \$	4,965.00			496	5 RANCO		4965
CIP SEAT WALL W/ CAST STONE CLADDING - EXHIBIT C	30 LF	\$426.00 \$	12,780.00			12780) RANCO		12780
GLASCRETE POTTED TREE PLANTERS (ALLOWANCE)	6 EA	\$2,500.00 \$	15,000.00			15000	0		15000
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00			198	5 PIETRE DESIGN		1985
9'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$18,500.00	18,500.00			18500) PIETRE DESIGN		18500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00 \$	4,000.00			4000	WM. D. ADEIMY J	R.	4000
6" SUBSLAB	750 SF	\$4.00	3,000.00			3000	WM. D. ADEIMY J	R.	3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00			4000	WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00 \$	5,000.00			5000	0		5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	2,500.00			2500	O CR DUNN		2500
MISSOURI STREET STREETEND ALLOWANCE			\$257,842.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45	23,074.35			23074.3	POST&BEAM/STC	ONE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00 \$	4,965.00				5 RANCO		4965
CIP RAISED PLANTER WALL W/ CAST STONE CLADDING - EXHIBIT B	70 LF	\$356.00 \$	24,920.00				RANCO		24920
MISSOURI STREET RESTROOM BUILDING	1 EA	\$97,000.00 \$	97,000.00			97000) RANCO		97000
4 POST IPE PERGOLA WITH CAST STONE CLADDING	1 EA	\$59,278.00 \$	59,278.00				B POST&BEAM/STC	NE AGAIN	59278



Item Description	Quantity U/M	Unit Price	Amount	Labor Equipment	Material Subcontractor General/Rental	Subtotal
FOUNDATIONS FOR 4 POST DECORATIVE IPE PERGOLA	1 EA	\$6,620.00 \$	6,620.00		6620 RANCO	6620
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00		1985 PIETRE DESIGN	198
12'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$21,500.00 \$	21,500.00		21500 PIETRE DESIGN	2150
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
6" SUBSLAB	750 SF	\$4.00 \$	3,000.00		3000 WM. D. ADEIMY JR.	300
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00 \$	5,000.00		5000	500
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	2,500.00		2500 CR DUNN	250
COOLIDGE STREET STREETEND ALLOWANCE			\$177,652.35			
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45	23,074.35		23074.35 POST&BEAM/STONE AGAIN	23074.3
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00 \$	4,965.00		4965 RANCO	496
CIP CIRCULAR CONCRETE BENCH - EXHIBIT F	85 LF	\$1,176.00 \$	99,960.00		99960 RANCO	9996
CIP SEAT WALL - EXHIBIT C	18 LF	\$426.00 \$	7,668.00		7668 RANCO	766
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00		1985 PIETRE DESIGN	198
12'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$21,500.00	21,500.00		21500 PIETRE DESIGN	2150
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$21,500.00 \$	4,000.00			2150 400
6" SUBSLAB	200 LF 750 SF		,		4000 WM. D. ADEIMY JR.	400 300
		\$4.00 \$	3,000.00		3000 WM. D. ADEIMY JR.	300 400
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400 500
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00 \$	5,000.00		5000	
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	2,500.00		2500 CR DUNN	250
HARDING STREET STREETEND ALLOWANCE			\$253,440.35			
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45 \$	23,074.35		23074.35 POST&BEAM/STONE AGAIN	23074.3
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00 \$	4,965.00		4965 RANCO	496
CIP RAISED PLANTER WALL W/ CAST STONE CLADDING - EXHIBIT B	145 LF	\$356.00 \$	51,620.00		51620 RANCO	5162
4 POST IPE PERGOLA WITH CAST STONE CLADDING	2 EA	\$59,278.00 \$	118,556.00		118556 POST&BEAM/STONE AGAIN	11855
FOUNDATIONS FOR 4 POST DECORATIVE IPE PERGOLA	2 EA	\$6,620.00 \$	13,240.00		13240 RANCO	1324
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00		1985 PIETRE DESIGN	198
12'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$21,500.00 \$	21,500.00		21500 PIETRE DESIGN	2150
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
6" SUBSLAB	750 SF	\$4.00	3,000.00		3000 WM. D. ADEIMY JR.	300
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
	10 EA		5,000.00		5000 WM. D. ADEIMIT JR.	500
L.E.D. PAVER BRICKS (ALLOWANCE) RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	10EA 1EA	\$500.00 \$ \$2,500.00 \$	5,000.00		2500 CR DUNN	250
		φ_,000.00	,			
WILSON STREET STREETEND ALLOWANCE FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS		\$7,691.45	\$141,886.35			22074.2
	3 EA		23,074.35		23074.35 POST&BEAM/STONE AGAIN	23074.3
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00	4,965.00		4965 RANCO	496
CIP SEAT WALL W/ CAST STONE CLADDING - EXHIBIT C	14 LF	\$426.00 \$	5,964.00		5964 RANCO	596
4 POST IPE PERGOLA WITH CAST STONE CLADDING	1 EA	\$59,278.00 \$	59,278.00		59278 POST&BEAM/STONE AGAIN	5927
FOUNDATIONS FOR 4 POST DECORATIVE IPE PERGOLA	1 EA	\$6,620.00 \$	6,620.00		6620 RANCO	662
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00 \$	1,985.00		1985 PIETRE DESIGN	198
12'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE) NONE SHOWN	1 EA	\$21,500.00 \$	21,500.00		21500 PIETRE DESIGN	2150
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
6" SUBSLAB	750 SF	\$4.00 \$	3,000.00		3000 WM. D. ADEIMY JR.	300
12" X 12" THICK HEADER CURB	200 LF	\$20.00 \$	4,000.00		4000 WM. D. ADEIMY JR.	400
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00 \$	5,000.00		5000	500
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00 \$	2,500.00		2500 CR DUNN	250
CAROLINA STREET STREETEND ALLOWANCE			\$6,985.00			
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00	1,985.00		1985 PIETRE DESIGN	198
						500
RESTORATION ALLOWANCE FOR FP&L TRANSFORMER (ALLOWANCE)	1 EA	\$5,000.00	5,000.00		5000	



Item Description	Quantity U/M	Unit Price	Amount	Labor E	quipment	Material	Subcontractor	General/Rental	Subtotal
TAFT STREET STREETEND ALLOWANCE			\$6,985.00						
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00	\$ 1,985.00			1985	PIETRE DESIGN		1985
RESTORATION ALLOWANCE FOR FP&L TRANSFORMER (ALLOWANCE)	1 EA	\$5,000.00				5000)		5000
ROOSEVELT STREET STREETEND ALLOWANCE		=	\$122,736.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45	\$ 23,074.35			23074.35	POST&BEAM/STC		23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00					RANCO		4965
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00					PIETRE DESIGN		1985
CIP SEAT WALL - EXHIBIT C	112 LF	\$426.00					RANCO		47712
15'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$26,500.00				26500	PIETRE DESIGN		26500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00				4000	WM. D. ADEIMY J	R.	4000
6" SUBSLAB	750 SF	\$4.00	\$ 3,000.00				WM. D. ADEIMY J		3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00	\$ 4,000.00			4000	WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00	\$ 5,000.00			5000			5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	\$ 2,500.00			2500	CR DUNN		2500
NEVADA STREET STREETEND ALLOWANCE		=	\$183,676.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45	\$ 23,074.35			23074.35	POST&BEAM/STC	NE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00	\$ 4,965.00			4965	RANCO		4965
CIP CIRCULAR CONCRETE BENCH - EXHIBIT F	45 LF	\$1,176.00	\$ 52,920.00			52920	RANCO		52920
CIP SEAT WALL - EXHIBIT C	20 LF	\$426.00	\$ 8,520.00			8520	RANCO		8520
OWNER DIRECT PURCHASE SHADE STRUCTURE	1 EA	\$25,000.00	\$ 25,000.00			25000	SHADE SYSTEMS	5	25000
INSTALLATION OF OWNER DIRECT PURCHASE SHADE STRUCTURE	1 EA	\$27,212.00	\$ 27,212.00			27212	RANCO		27212
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00	\$ 1,985.00			1985	PIETRE DESIGN		198
12'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE) NONE SHOWN	1 EA	\$21,500.00				21500	PIETRE DESIGN		21500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00	\$ 4,000.00			4000	WM. D. ADEIMY J	R.	4000
6" SUBSLAB	750 SF	\$4.00					WM. D. ADEIMY J		3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00					WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00	\$ 5,000.00			5000			5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	\$ 2,500.00			2500	CR DUNN		2500
NEBRASKA STREET STREETEND ALLOWANCE			\$191,722.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45	\$ 23,074.35			23074.35	POST&BEAM/STC	NE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00	\$ 4,965.00			4965	RANCO		4965
CIP CIRCULAR CONCRETE BENCH - EXHIBIT F	50 LF	\$1,176.00	\$ 58,800.00			58800	RANCO		58800
4 POST IPE PERGOLA WITH CAST STONE CLADDING	1 EA	\$59,278.00	\$ 59,278.00			59278	POST&BEAM/STC	NE AGAIN	59278
FOUNDATIONS FOR 4 POST DECORATIVE IPE PERGOLA	1 EA	\$6,620.00	\$ 6,620.00			6620	RANCO		6620
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00	\$ 1,985.00			1985	PIETRE DESIGN		1985
9'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$18,500.00	\$ 18,500.00			18500	PIETRE DESIGN		18500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00					WM. D. ADEIMY J		4000
6" SUBSLAB	750 SF	\$4.00				3000	WM. D. ADEIMY J	R.	3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00				4000	WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00				5000			5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	\$ 2,500.00			2500	CR DUNN		2500
McKINLEY STREET STREETEND ALLOWANCE			\$141,606.35						
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3 EA	\$7,691.45				23074.35	POST&BEAM/STC	NE AGAIN	23074.35
FOUNDATIONS FOR IPE DECORATIVE POSTS	3 EA	\$1,655.00					RANCO		4965
STREET NAME MOSAIC (ALLOWANCE)	1 EA	\$1,985.00				1985	PIETRE DESIGN		1985
CIP RAISED PLANTER WALL W/ CAST STONE CLADDING - EXHIBIT B	126 LF	\$356.00					RANCO		44856
CIP SEAT WALL - EXHIBIT C	51 LF	\$426.00					RANCO		21726
15'-0" CUSTOM PEBBLE MOSAIC (ALLOWANCE)	1 EA	\$26,500.00				26500	PIETRE DESIGN		26500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200 LF	\$20.00					WM. D. ADEIMY J		4000
6" SUBSLAB	750 SF	\$4.00					WM. D. ADEIMY J		3000
12" X 12" THICK HEADER CURB	200 LF	\$20.00					WM. D. ADEIMY J	R.	4000
L.E.D. PAVER BRICKS (ALLOWANCE)	10 EA	\$500.00				5000			5000
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1 EA	\$2,500.00	\$ 2,500.00			2500	CR DUNN		2500



Item Description	Quantity	U/M	Unit Price	Amount	Labor	Equipment	Material	Subcontractor	General/Rental	Subtotal
CLAHOMA STREET STREETEND ALLOWANCE			=	\$130,306.35	_					
FURNISH AND INSTALLATION OF IPE DECORATIVE POSTS	3	EA	\$7,691.45		5		23074 35	POST&BEAM/STO		23074.
FOUNDATIONS FOR IPE DECORATIVE POSTS		EA	\$1,655.00					RANCO		49
CIP RAISED PLANTER WALL W/ CAST STONE CLADDING - EXHIBIT B			\$1,655.00					RANCO		160
	-									
CIP SEAT WALL - EXHIBIT C	-		\$426.00					RANCO		157
STREET NAME MOSAIC (ALLOWANCE)		EA	\$1,985.00					PIETRE DESIGN		19
SCULPTURE IN PLANTER BED (ALLOWANCE)		EA	\$50,000.00				50000			500
8" X 12" THICK SUBTERRANEAN HEADER CURB	200		\$20.00					WM. D. ADEIMY J		4
6" SUBSLAB	750		\$4.00					WM. D. ADEIMY J		3
12" X 12" THICK HEADER CURB	200		\$20.00					WM. D. ADEIMY J	IR.	4
L.E.D. PAVER BRICKS (ALLOWANCE)	10	EA	\$500.00				5000			5
RELOCATE EXISTING BROADWALK LIGHT POLE (ALLOWANCE)	1	EA	\$2,500.00	\$ 2,500.00)		2500	CR DUNN		2
RNISHINGS			=	\$608,012.21	-					
MCGRORY RECREATION ADA STAINLESS STEEL DRINKING FOUNTAIN	11	EA	\$5,266.80	\$ 57,934.80)		54780		3154.8	5793
LANDSCAPE FORMS 6" DIAM. REMOVABLE BOLLARD WITH SOLAR LED AMBER LIGH	33	EA	\$1,961.00				61050		3663	64
LANDSCAPE FORMS 6' PLAINWELL BENCH		EA	\$1,658.90	, ,			51645		3098.7	547
LANDSCAPE FORMS PI SURFACE MOUNT BIKE RACKS		EA	\$434.60				13530		811.8	143
SHIPPING FOR LANDSCAPE FORMS ITEMS		EA	\$7,580.00				10000		7580	1-10
FORMS & SURFACES TRASH RECEPTACLES		EA	\$1,587.88				16478		988.68	1746
		EA	\$379.48				3938		236.28	417
FORMS & SURFACES ASH BUTTLER		EA					17996			
FORMS & SURFACES RECYCLING RECEPTACLES			\$1,734.16				1452		1079.76 87.12	1907
FORMS & SURFACES HOLLYWOOD MEDALLIONS		EA	\$46.64							153
FORMS & SURFACES MINI-ME TRASH RECEPTACLES		EA	\$484.42				20108		1206.48	2131
SHIPPING FOR FORMS & SURFACES ITEMS		EA	\$8,996.00						8996	8
MINI-ME TRASH RECEPTACLES LINERS		EA	\$42.40					ULINE	120	
FURNISH AND INSTALL CUSTOM NEWS CORRALS		EA	\$8,715.91					REICH METALS		9
INSTALLATION OF OWNER DIRECT PURCHASE MCGRORY RECREATION ADA STAINLESS STEEL DRINKING FOUNTAIN	11	EA	\$609.55	\$ 6,705.05	3956.7	1010.35	583		1155	670
INSTALLATION OF OWNER DIRECT PURCHASE LANDSCAPE FORMS 6" DIAM. REMOVABLE BOLLARD WITH SOLAR LED AMBER LIGHT	33	EA	\$166.08	\$ 5,480.64	3165.36	808.28	583		924	548
INSTALLATION OF OWNER DIRECT PURCHASE LANDSCAPE FORMS 6' PLAINWELL BENCH	33	EA	\$137.81	\$ 4,547.73	3 2374.02	606.21	874.5		693	454
INSTALLATION OF OWNER DIRECT PURCHASE LANDSCAPE FORMS PI SURFACE MOUNT BIKE RACKS	33	EA	\$150.18	\$ 4,955.87	2637.8	673.57	874.5		770	498
INSTALLATION OF OWNER DIRECT PURCHASE FORMS & SURFACES TRASH RECEPTACLES	11	EA	\$165.64	\$ 1,822.07	989.17	252.59	291.5		288.75	182
INSTALLATION OF OWNER DIRECT PURCAHSE FORMS & SURFACES ASH BUTTLER	INCLUDED I	IN INSTAI	LI ATION OF TRAS	SH RECEPTACLES						
INSTALLATION OF OWNER DIRECT PURCHASE FORMS & SURFACES RECYCLING RECEPTACLES		EA	\$165.64		989.17	252.59	291.5		288.75	182
INSTALLATION OF OWNER DIRECT PURCHASE FORMS & SURFACES HOLLYWOOD MEDALLIONS	33	EA	\$44.33	\$ 1,462.90) 719.4	183.7		349	.8 210	14
INSTALLATION OF OWNER DIRECT PURCHASE FORMS & SURFACES MINI-ME	44	EA	\$165.64	\$ 7,288.05	3956.7	1010.35	1166		1155	728
TRASH RECEPTACLES CAST STONE TREE GRATES	105	EA	\$1,590.00	\$ 166,950.00			166050	ARTISTIC		16
TRANSPORTATION OF FURNISHINGS FROM CITY OF HOLLYWOOD YARD		HRS	\$1,590.00 \$37.10			6123.33	100950	ARTISTIC	7000	371
					Labor	Equipment	Material	Subcontractor	General/Rental	Subtota
I		<u>ı </u>				1.1				
Hollywood Phase III Streetscapes Total Direct Construction Cost				\$9,894,869.6	5 703687.74	537359.82	7774043.24	555855.0	02 323923.83	98948



Hollywood Beach Streetscapes

Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Guaranteed Maximum Price GENERAL CONDITIONS

From:	Burkhardt Construction, Inc. Attn: Marc R. Kleisley 1400 Alabama Ave., Suite #20 West Palm Beach, FL 33401 Tel: (561) 659-1400 Fax: (561) 659-1402
Owner:	City of Hollywood Attn: Moshue Anuar 2600 Hollywood Boulevard Hollywood, FL 33020 Tel: 954-921-3497
Designer:	City of Hollywood Public Works 2600 Hollywood Boulevard Hollywood, FL 33020
Plans:	See attached Plan Log
Location: Proposal Due Date:	Hollywood Beach Oklahoma Steet to Lee St., Hollywood, FL 33019 5/25/2016, REV. 6/9/2016
	,

Item Description					Amount
MOBILIZATION (move-in, move-out)					\$76,000.00
TRANSPORT	\$65.00 /	Hr	х	80	\$5,200.00
EQUIPMENT	\$35.00 /	Hr.	х	80	\$2,800.00
SUBCONTRACTOR MOBILIZATION(S) - JD	\$1,818.18 /	Ea.	х	11	\$20,000.00
Pietre Dure Design	\$4,000.00 /	Ea.	х	12	\$48,000.00

PROJECT FIELD OFFICE					\$263,200.00
OFFICE &/or CONSTRUCTION TRAILER	\$2,000.00 /	mo.	х	24	\$48,000.00
YARD	\$0.00 /	mo.	х	24	\$0.00
EMPLOYEE PARKING FEES	\$530.00 /	mo.	х	24	\$12,720.00
WORK PLATFORM FOR YARD	\$0.00 /	mo.	х	24	\$0.00
TEMPORARY FENCING FOR YARD	\$0.00 /	mo.	х	24	\$0.00
CONSTRUCTION YARD LIGHTING	\$0.00 /	mo.	х	24	\$0.00
OFFICE FURNISHINGS	\$200.00 /	mo.	х	24	\$4,800.00
COMPUTERS	\$300.00 /	mo.	х	24	\$7,200.00
SOFTWARE	\$200.00 /	mo.	х	24	\$4,800.00
PROCORE MANAGEMENT SOFTWARE	\$375.00 /	mo.	х	24	\$9,000.00
SUBMITTAL SOFTWARE	\$125.00 /	mo.	х	24	\$3,000.00
COPY MACHINE	\$200.00 /	mo.	х	24	\$4,800.00
FAX MACHINE	NOT REQUIRED /	mo.	х	24	
FIELD OFFICE CLERK	2080 /	hrs.	х	50	\$104,000.00
INTERNET SERVICE	\$150.00 /	mo.	х	24	\$3,600.00



	CELLULAR TELEPHONE	\$200.00 /	mo.	х	24	\$4,800.00
	TELEPHONE	\$150.00 /	mo.	x	24	\$3,600.00
	FEDERAL EXPRESS MAILINGS	\$100.00 /	mo.	x	24	\$2,400.00
	POSTAGE	\$50.00 /	mo.	x	24	\$1,200.00
	PHOTOGRAPHS	\$00.00 <i>f</i>	me.	A		ψ1,200.00
	AERIAL PHOTOS	\$110.00 /	mo.	х	24	\$2,640.00
	JOB PHOTOS	\$100.00 /			24	\$2,400.00
		-	mo.	x		
	PRE-CONSTRUCTION VIDEO	\$2,500.00 /	ea.	х	2	\$5,000.00
	PLAN REPRODUCTION COST/PRINTING	\$200.00 /	set	х	30	\$6,000.00
	OFFICE SUPPLIES	\$100.00 /	mo.	х	24	\$2,400.00
	FIRST AID SUPPLIES	\$50.00 /	mo.	х	24	\$1,200.00
	WATER SERVICE	\$35.00 /	mo.	х	24	\$840.00
	SANITARY SERVICE	\$50.00 /	mo.	х	24	\$1,200.00
	ELECTRIC SERVICE	\$200.00 /	mo.	х	24	\$4,800.00
	GARBAGE SERVICE	\$25.00 /	mo.	х	24	\$600.00
	CONSTRUCTION WATER	\$500.00 /	mo.	х	24	\$12,000.00
	JOHN DEERE GATOR	\$250.00 /	mo.	х	24	\$6,000.00
	ICE	\$175.00 /	mo.	х	24	\$4,200.00
						. ,
ONDS	GENERAL BOND	\$13,992,000.00		x	1.25%	\$174,900.00 \$174,900.00
	SUBCONTRACTORS BONDS					
ARTNERIN	IG INITIATIVES					\$7,500.00
	NOTICES, LETTERS, INFORMATION MEETINGS					\$7,500.00
	-					¢265 949 00
ISURANCE	E GENERAL INSURANCE	\$13,992,000.00		х	1.90%	\$265,848.00 \$265,848.00
	Commercial General Liability Comprehensive Automobile Liability Owner Idemnification Professional (Errors/Omissions) Liability Excess/Umbrella Liability					
	ADD'L INSUREDS	\$0.00 /	ea.	x	100	\$0.00
	ADDED INSURANCES REQUIRED Builders Risk Insurance Installation Floater Flood Insurance	\$0.00		x	0.50%	\$0.00
	SUBCONTRACTORS' INSURANCE	included in their direct co	sts			
ANITARYS	SERVICES					\$11,400.00
	JOB TOILET (2ea.)/PROJECT;TOTAL = 4	\$475.00 /	mo.	х	24	\$11,400.00
<u>ESTIN</u> G C	OSTS (ALLOWANCE)					\$30,000.00
	DENSITIES PRESSURE PROCTORS BACTERIOLOGICAL CONCRETE CYLINDERS SPECIAL INSPECTOR ENCINEERING & REPORTING					
ES_						\$212,897.39
	PERMIT FEES	\$9,894,869.65		х	2.00%	\$197,897.39
FEES	PERMIT FEES SFWMD DEWATERING PERMIT	\$9,894,869.65		x	2.00%	L

SF\	WMD DEWATERING PERMIT					
BR	OWARD COUNTY HEALTH DEPARTMENT					
DE	SIGN FEES FOR MISSOURI STREET RESTROOM	\$15,000.00 /	ea.	х	1	\$15,000.00



SURVEYING					\$53,950.00
LAYOUT & ASBUILTS (GIBBS)	\$1,622.92 /	mo.	х	24	\$38,950.00
ALLOWANCE FOR RESTAKING	\$625.00 /	mo.	х	24	\$15,000.00
& DRAFTING					
SMALL HAND TOOLS/EQUIPMENT RENTAL					\$5,000.00
ALLOWANCE (GENERAL)					\$5,000.00
					£4.400.005.20
GENERAL CONDITIONS TOTAL					\$1,100,695.39



Hollywood Beach Streetscapes

Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Guaranteed Maximum Price CONSTRUCTION MANAGEMENT FEE

From:	Burkhardt Construction, Inc. Attn: Marc R. Kleisley 1400 Alabama Ave., Suite #20 West Palm Beach, FL 33401 Tel: (561) 659-1400 Fax: (561) 659-1402
Owner:	City of Hollywood Attn: Moshue Anuar 2600 Hollywood Boulevard Hollywood, FL 33020 Tel: 954-921-3497
Designer:	City of Hollywood Public Works 2600 Hollywood Boulevard Hollywood, FL 33020
Plans:	See attached Plan Log
Location:	Hollywood Beach Oklahoma Steet to Lee St., Hollywood, FL 33019
Proposal Due Date:	5/25/2016, REV. 6/9/2016

Item Description	Quantit	y (Hrs./Week)	Wks.	R	ate/Hr.		Amount
BASED ON A START DATE OF NOVEMBER 1, 2016 AN	ID A COMPLET	TION DATE OF	OCTOBER	31, 20	18. 24 MONT	HS OR 10	04 WEEKS
Project Principal	4	Hrs./Wk.	104	\$	160.00	\$	66,560.00
Senior Project Manager	0	Hrs./Wk.	104	\$	150.00	\$	-
Project Manager	24	Hrs./Wk.	104	\$	100.00	\$	249,600.00
Construction Field Manager	40	Hrs./Wk.	104	\$	95.00	\$	395,200.00
Full Time Working Superintendent	40	Hrs./Wk.	104	\$	80.00	\$	332,800.00
Project Accountant	5	Hrs./Wk.	104	\$	80.00	\$	41,600.00
Field Office Clerk	0	Hrs./Wk.	104	\$	50.00	\$	-

Total Construction Management Fee

\$ 1,085,760.00

PROJECT MANAGEMENT TEAM FOR THIS PROJECT:

PROJECT PRINCIPAL:	MARC KLEISLEY
PROJECT MANAGER:	ADAM ROSSMELL
CONSTRUCTION FIELD MANAGER:	TED KAMINSKI
FULL TIME WORKING SUPERINTENDENT:	RUBEN ALMAZAN
PROJECT ACCOUNTANT:	KATY PANTALEON
FIELD OFFICE CLERK:	BRITTANY DARVILLE

Phase III - Side Street Improvements (Oklahoma Street to Lee Street) Guaranteed Maximum Price based on plans received February 17th, 2016

Exceptions & Clarifications - May 25, 2016, REV. 6/7/16

GENERAL

- 1 Scope of work and quantities are based on modified Construction Plans for E-W Streetscape from Oklahoma St. to Lee St. Complete plan log is included with this submittal.
- 2 Guaranteed Maximum Price (G.M.P.) was compiled using competitive bids received from pre-approved subcontractors and vendors.
- G.M.P. includes a 6% owner's contingency, a \$200,000.00 landscaping contingency for the streetends that are yet to be designed, a \$50,000.00 contingency for streetend pavers, a \$75,000.00 contingency for water, sewer, and storm drainage, a \$25,000.00 restroom building contingency, and a 2% contingency for vertical construction elements.
- 4 G.M.P. does not include any capital improvement fees, connection fees or impact fees.
- 5 It is understood that the Direct Construction Cost (Exhibit "A") is unit prices for the work shown in the plans and as modified by these exceptions and clarifications.
- 6 Project master schedule and schedule updates shall be a bar chart schedule acceptable to the Owner prepared by CMAR in house personnel.
- 7 Project Manual as described in the contract shall mean the closeout project manual which shall be updated periodically and presented to the Owner upon completion of the project. The information contained in this manual shall be as requested by the Owner.
- 8 G.M.P. cost estimate does not include additional insurance premiums for naming individual property owners as additional insureds. Builder's risk insurance is not included.
- 9 G.M.P. includes a sales tax credit on direct owener purchased materials. City shall purchase directly the following materials: electrical poles and fixtures, quazite pull boxes, bollards, bicycle racks, trash receptacles, recycle bins, mini-me trash receptacles, benches and brick pavers. City shall retain or pay the difference between the allocated funds and the actual cost of the materials. If City is to pay the difference, would be paid from the contingency line item in the contract.
- 10 All Construction easements shall be executed and all permits shall be issued prior to commencement of the project.
- 11 Labor and equipment prices are firm for all work stated in the GMP. Material price increases shall be passed through to the Owner with proper documentation, and paid for with Contingency.
- 12 COH Building Permits; All permits shall be in hand prior to start of construction.
- 13 Prices are based on Davis-Bacon Prevailing Wage Determination General Decision Number FL160203 dated 1/8/2016. State: Florida, Construction Type: Highway, County: Broward County.
- 14 Prices are based on Contractor using street ends for temporary staging and use as material stockpiling and storage.



- 15 If deemed necessary to meet the construction schedule, the CMAR shall have the right to have morre than one street/street end under construction simultaneously. It is agreed that an adjacent street shall not be under construction at the same time. Adjacent street ends may be constructed simultaneously.
- 16 The project will require free and unlimited jobsite access for workmen and deliveries during all authorized work hours.
- 17 Burkhardt Construction, Inc. (BCI) is not liable for failure to perform such work or any damages that occur if such failure is as a result of Acts of God (including fire, flood, earthquake, storm, hurricane or other natural disaster). If BCI asserts Force Majeure as the reason for failure to perform such work or such damages occur as a result of any Act of God, then BCI must prove that they took reasonable steps to minimize delay or damages caused by unforseeable events, that BCI substantially fulfilled all obligations, and that the owner was timely notified of the likelihood or actual occurrence of the event described as an Act of God (Force Majeure). Any construction related damages that took place as a result, shall be repaired or removed and replaced at the same contract unit prices and shall be paid out of the contingency.
- 18 Testing costs have been included in General Conditions as an allowance.
- 19 Street End design shall be completed so as not to impede the progress of the work.
- 20 In the event that the terms and provisions of all attached Exhibits conflict with or are omitted from the terms and provisions of this Contract, the terms and provisions of the attached exhibits shall govern with respect to the performance of the work.
- 21 Budgets and allowances for the streetends have been created based on anticipated design.
- 22 G.M.P. includes restroom building located in Missouri streetend. Restroom building allowance includes augercast piles to a depth of 22 feet. A geotech report will need to be completed to determine final pile depth and design.

DEMOLITION / CLEARING & GRUBBING

1 G.M.P. does not include costs for removal / remediation of asbestos cement pipe or any other hazardous materials.

EARTHWORK / GRADING / SIDEWALK / ROADWAY CONSTRUCTION

- 1 G.M.P. does not include removal or replacement of any unsuitable subsoils. Demucking is specifically excluded.
- 2 Prices are based on re-using excavated material for backfill. No unsuitable subsoil excavation, removal or replacement. Unsuitable soil, if encountered shall be removed, disposed of, replaced as directed by the Owner and billed to the Owner at the actual direct cost.
- 3 Initial Geotech reports were not included in the 90% Plan set, therefore no subsurface soil investigations were performed by the CMAR during pre-construction services.
- 4 G.M.P. is based on the assumption that portions of roadways will be closed to vehicular traffic during construction.

WATER / SEWER / STORM DRAINAGE

1 G.M.P. does not include any cost for disposal/treatment of contaminated ground water if encountered during dewatering operations. It is assumed that clean groundwater generated by dewatering operations will be discharged into the existing storm drainage system.



- 2 De-silting of the existing storm drainage system within the project limits and outside the project limits is excluded.
- 3 G.M.P. cost estimate assumes existing water valves can be shut off to perform required offset work. If the line cannot be shut down, line stops will be required and the costs associated shall be paid from contingency.
- 4 G.M.P. cost estimate does not include City of Hollywood meter installation and hook-up fees.

FRANCHISE UTILITIES / ELECTRICAL

- 1 G.M.P. cost estimate does not include any design, engineering or installation fees which may be charged to the Owner by franchise utility companies. (electric, telephone, cable tv, gas)
- 2 The Construction Manager at Risk shall not assume liability or warranty any work performed by FPL, COMCAST, ATT, TECO and/or their subcontractors.
- 3 G.M.P. cost estimate does not include any traffic signal removal or replacement
- 4 G.M.P. does not include FPL's binding cost estimate, Comcast, or AT&T. These invoices shall be paid directly by the owner. FPL's binding cost estimate must be fully executed prior to release of FPL materials. Release of FPL materials must be received prior to Notice to Proceed being issued.
- 5 G.M.P. assumes the light fixtures will be purchased directly from Municipal Lighting Systems and does not include a distributor markup. If light fixtures are purchased through a distributor, the markup can range from 7-15%. This amount will be taken out of contingnecy.
- 6 The schedule represents the work controlled by the Construction Manager at Risk. Should the project exceed the scheduled 24 month duration due to the involvement of entities beyond our control (including but not limited to FPL, ATT and Comcast), a "No Fee" time extension for that work shall be issued. "No Fee" specifically refers to the construction phase fee and profit. Should a "Fee" be requested and deemed appropriate, if and only if it is mutually agreed upon by the City of Hollywood and Burkhardt Construction prior to the granted time extension.

LANDSCAPE / IRRIGATION

- 1 G.M.P. cost estimate does not include an annual maintenance agreement.
- 2 G.M.P. cost estimate includes a contingency for landscaping in the streetends that have yet to be designed.



Hollywood Beach Streetscapes Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Plan Log

		Plan Log		
Discipline	Drawing #	Drawing Title	Drawing Date	Received Date
AT&T CONVERSION	CT-0	AT&T CONVERSION PLAN COVER SHEET	1/1/2011	3/7/2016
AT&T CONVERSION	CT-2	AT&T CONVERSION PLAN LEE STREET	1/1/2011	3/7/2016
AT&T CONVERSION	CT-3	AT&T CONVERSION PLAN SCOTT STREET AND MISSOURI STREET	1/1/2011	3/7/2016
AT&T CONVERSION	CT-4	AT&T CONVERSION PLAN COOLIDGE STREET AND HARDING	1/1/2011	3/7/2016
AT&T CONVERSION	CT-5	AT&T CONVERSION PLAN WILSON STREET AND CAROLINA	1/1/2011	3/7/2016
AT&T CONVERSION	CT-6	AT&T CONVERSION PLAN TAFT STREET AND ROOSEVELT STREET	1/1/2011	3/7/2016
AT&T CONVERSION	CT-7	AT&T CONVERSION PLAN NEVADA STREET AND NEBRASKA STREET	1/1/2011	3/7/2016
AT&T CONVERSION	CT-8	AT&T CONVERSION PLAN MCKINLEY STREET AND OKLAHOMA STREET	1/1/2011	3/7/2016
Civil	AN-1	ABBREVIATIONS & KEY PLAN	2/12/2016	2/17/2016
Civil	C-2	LEE STREET CIVIL	2/12/2016	2/17/2016
Civil	C-3	SCOTT STREET AND MISSOURI STREET CIVIL	2/12/2016	2/17/2016
Civil	C-4	COOLIDGE STREET AND HARDING STREET CIVIL	2/12/2016	2/17/2016
Civil	C-5	WILSON STREET AND CAROLINA STREET CIVIL	2/12/2016	2/17/2016
Civil	C-6	TAFT STREET AND ROOSEVELT STREET CIVIL	2/12/2016	2/17/2016
Civil	C-7	NEVADA STREET & NEBRASKA STREET CIVIL	2/12/2016	2/17/2016
Civil	C-8	MCKINLEY STREET CIVIL	2/12/2016	2/17/2016
Civil	C-9	OKLAHOMA STREET CIVIL	2/12/2016	2/17/2016
Civil	C-10	TYPICAL SECTIONS	2/12/2016	2/17/2016
Civil	C-10 C-11	CIVIL PLAN DETAILS	2/12/2010	2/17/2016
	C-11 C-12	CIVIL PLAN DETAILS		
Civil		CIVIL PLAN DETAILS	2/12/2016 2/12/2016	2/17/2016
Civil	C-13			2/17/2016
Civil	C-14	CIVIL PLAN DETAILS	2/12/2016	2/17/2016
Civil	CN-1	GENERAL NOTES AND LEGENDS	2/12/2016	2/17/2016
Civil	CVR	COVER SHEET	2/12/2016	2/17/2016
COMCAST CONVERSION	CC-0	COMCAST CONVERSION PLAN COVER SHEET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-2	COMCAST CONVERSION PLAN LEE STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-3	COMCAST CONVERSION PLAN SCOTT STREET AND MISSOURI STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-4	COMCAST CONVERSION PLAN COOLIDGE STREET AND HARDING STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-5	COMCAST CONVERSION PLAN WILSON STREET AND CAROLINA STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-6	COMCAST CONVERSION PLAN TAFT STREET AND ROOSEVELT STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-7	COMCAST CONVERSION PLAN NEVADA STREET AND NEBRASKA STREET	1/1/2011	3/7/2016
COMCAST CONVERSION	CC-8	COMCAST CONVERSION PLAN MCKINLEY STREET AND OKLAHOMA STREET	1/1/2011	3/7/2016
DEMOLITION	D-1	DEMOLITION PLAN	2/12/2016	2/17/2016
DEMOLITION	D-2	DEMOLITION PLAN	2/12/2016	2/17/2016
DEMOLITION	D-3	DEMOLITION PLAN	2/12/2016	2/17/2016
Electrical	CD-00	STREET LIGHT PLAN COVER PAGE	1/1/2011	2/17/2016
Electrical	CK-1	WIRING DIAGRAM	1/1/2011	2/17/2016
Electrical	CK-2	WIRING DIAGRAM	1/1/2011	2/17/2016
Electrical	CK-3	WIRING DIAGRAM	1/1/2011	2/17/2016
Electrical	СК-4	WIRING DIAGRAM	1/1/2011	2/17/2016
Electrical	CK-5	WIRING DIAGRAM	1/1/2011	2/17/2016
Electrical	RD-1	RISER DIAGRAM	1/1/2011	2/17/2016
Electrical	RD-2	RISER DIAGRAM	1/1/2011	2/17/2016
Electrical	RD-3	RISER DIAGRAM	1/1/2011	2/17/2016
Electrical	SL-2	STREET LIGHT PLAN LEE STREET AND NEW HAMPSHIRE STREET	1/1/2011	2/17/2016
Electrical	SL-3	STREET LIGHT PLAN SCOTT STREET AND MISSOURI STREET	1/1/2011	2/17/2016
Electrical	SL-4	STREET LIGHT PLAN COOLIDGE STREET AND HARDING STREET	1/1/2011	2/17/2016
Licocitoui	JL 7		1 1/1/2011	



Hollywood Beach Streetscapes Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Plan Log

		Plan Log		
Electrical	SL-5	STREET LIGHT PLAN WILSON STREET AND CAROLINA STREET	1/1/2011	2/17/2016
Electrical	SL-6	STREET LIGHTING PLAN TAFT STREET AND ROOSEVELT STREET	1/1/2011	2/17/2016
Electrical	SL-7	STREET LIGHT PLAN NEVADA STREET AND NEBRASKA STREET	1/1/2011	2/17/2016
Electrical	SL-8	STREET LIGHT PLAN MCKINLEY STREET AND OKLAHOMA STREET	1/1/2011	2/17/2016
Electrical	SX-2	STREET LIGHTING DETAILS, NOTES, AND SPECIFICATIONS	1/1/2011	2/17/2016
EXISTING CONDITIONS	EC-2	EXISTING CONDITIONS LEE STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-3	EXISTING CONDITIONS SCOTT STREET AND MISSOURI STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-4	EXISTING CONDITIONS COOLIDGE STREET AND HARDING STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-5	EXISTING CONDITIONS WILSON STREET AND CAROLINA STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-6	EXISTING CONDITIONS TAFT STREET AND ROOSEVELT STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-7	EXISTING CONDITIONS NEVADA STREET AND NEBRASKA STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-8	EXISTING CONDITIONS MCKINLEY STREET	2/12/2016	2/17/2016
EXISTING CONDITIONS	EC-9	EXISTING CONDITIONS OKLAHOMA STREET	2/12/2016	2/17/2016
FP&L CONVERSION	CD-0	FP&L CONVERSION PLAN COVER PAGE	1/1/2011	2/17/2016
FP&L CONVERSION	CF-2	FPL CONVERSION PLAN LEE STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-3	FP&L CONVERSION PLAN SCOTT STREET AND MISSOURI STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-4	FP&L CONVERSION PLAN COOLIDGE STREET AND HARDING STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-5	FP&L CONVERSION PLAN WILSON STREET AND CAROLINA STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-6	FP&L CONVERSION PLAN TAFT STREET AND ROOSEVELT STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-7	FPL CONVERSION PLAN NEVADE STREET AND NEBRASKA STREET	1/1/2011	2/17/2016
FP&L CONVERSION	CF-8	FP&L CONVERSION PLAN MCKINLEY STREET AND OKLAHOMA STREET	1/1/2011	2/17/2016
HARDSCAPE	HS-3	LEE STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-4	SCOTT STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-5	MISSOURI STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-6	COOLIDGE STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-7	HARDING STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-8	WILSON STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-9	CAROLINA STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-10	TAFT STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-11	ROOSEVELT STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-12	NEVADA STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-13	NEBRASKA STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-14	MCKINLEY STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-15	OKLAHOMA STREET HARDSCAPE PLAN	2/12/2016	2/17/2016
HARDSCAPE	HS-16	HARDSCAPE DETAILS	2/12/2016	2/17/2016
HARDSCAPE	HS-17	HARDSCAPE DETAILS	2/12/2016	2/17/2016
HARDSCAPE	HS-18	HARDSCAPE DETAILS	2/12/2010	2/17/2016
HARDSCAPE	HS-19	HARDSCAPE DETAILS	2/12/2010	2/17/2016
IRRIGATION	IR-3	IRRIGATION PLAN OF LEE STREET	4/15/2010	2/26/2016
IRRIGATION	IR-4	IRRIGATION PLAN OF SCOTT STREET	4/15/2010	2/26/2016
IRRIGATION	IR-4	IRRIGATION PLAN OF MISSOURI STREET	4/15/2010	2/26/2016
IRRIGATION	IR-6	IRRIGATION PLAN OF MISSOON STREET	4/15/2010	2/26/2016
IRRIGATION	IR-0	IRRIGATION PLAN OF HARDING STREET	4/15/2010	2/26/2016
IRRIGATION	IR-8	IRRIGATION PLAN OF WILSON STREET	4/15/2010	2/26/2016
IRRIGATION	IR-11	IRRIGATION PLAN OF ROOSEVELT STREET	4/15/2010	2/26/2016
IRRIGATION	IR-11 IR-12	IRRIGATION PLAN OF NEVADA STREET	4/15/2010	2/26/2016
IRRIGATION	IR-12 IR-13	IRRIGATION PLAN OF NEVADA STREET	4/15/2010	2/26/2016
IRRIGATION	IR-13 IR-14	IRRIGATION PLAN OF MEDRASKA STREET	4/15/2010	2/26/2016
IRRIGATION	IR-15	IRRIGATION PLAN OF OKLAHOMA STREET	4/15/2010	2/26/2016



Hollywood Beach Streetscapes Phase III - Side Street Improvements (Oklahoma Street to Lee Street)

Plan Log

		Plan Log		
IRRIGATION	IR-16	MATERIAL LIST-NOTES & DETAILS	4/15/2010	2/26/2016
IRRIGATION	IR-17	NOTES AND DETAILS	4/15/2010	2/26/2016
Landscape	L-2	LEE STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-3	SCOTT STREET AND MISSOURI STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-4	COOLIDGE STREET AND HARDING STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-5	WILSON STREET AND CAROLINA STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-6	TAFT STREET AND ROOSEVELT STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-7	NEVADA STREET AND NEBRASKA STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-8	MCKINLEY STREET LANDSCAPING	2/12/2016	2/17/2016
Landscape	L-9	OKLAHOMA STREET LANDCAPING	2/12/2016	2/17/2016
Landscape	L-11	LANDSCAPE DETAILS AND SPECIFICATIONS	2/12/2016	2/17/2016
Landscape	L-12	LANDSCAPING NOTES	2/12/2016	2/17/2016
MISSOURI STREET RESTROOM	A0.0	Missouri Street Restroom Cover Page	10/11/2010	2/17/2016
MISSOURI STREET RESTROOM	A1.0	MISSOURI STREET RESTROOM GENERAL NOTES	3/30/2011	2/17/2016
MISSOURI STREET RESTROOM	A2.0	MISSOURI STREET RESTROOM ARCHITECTURAL SITE PLAN	3/30/2011	2/17/2016
MISSOURI STREET RESTROOM	A3.0	MISSOURI STREET RESTROOM ELEVATIONS/ARCHITECTURAL FLOOR PLAN/ROOF FRAMING AND FOUNDATION PLANS	3/30/2011	2/17/2016
MISSOURI STREET RESTROOM	A4.0	MISSOURI STREET RESTROOM SECTIONS AND INTERIOR ELEVATIONS	3/30/2011	2/17/2016
MISSOURI STREET RESTROOM	A5.0	MISSOURI STREET RESTROOM PLUMBING/MECHANICAL/ELECTRICAL PLAN	4/9/2010	2/17/2016
PAVEMENT MARKING	PM-2	PAVEMENT MARKING AND SIGNAGE LEE STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-3	PAVEMENT MARKING AND SIGNAGE SCOTT STREET AND MISSOURI STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-4	PAVEMENT MARKING AND SIGNAGE COOLIDGE STREET AND HARDING STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-5	PAVEMENT MARKING AND SIGNAGE WILSON STREET AND CAROLINA STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-6	PAVEMENT MARKING AND SIGNAGE TAFT STREET AND ROOSEVELT STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-7	PAVEMENT MARKING AND SIGNAGE NEVADA STREET AND NEBRASKA STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-8	PAVEMENT MARKING AND SIGNAGE MCKINLEY STREET	2/12/2016	2/17/2016
PAVEMENT MARKING	PM-9	PAVEMENT MARKING AND SIGNAGE OKLAHOMA STREET	2/12/2016	2/17/2016
PHOTOMETRIC	SP-2	PHOTOMETRIC PLAN SCOTT STREET AND LEE STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-3	PHOTOMETRIC PLAN MISSOURI STREET AND COOLIDGE STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-4	PHOTOMETRIC PLAN HARDING STREET AND WILSON STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-5	PHOTOMETRIC PLAN CAROLINA STREET AND TAFT STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-6	PHOTOMETRIC PLAN ROOSEVELT STREET AND NEVADA STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-7	PHOTOMETRIC PLAN NEBRASKA STREET AND MCKINLEY STREET	1/1/2011	2/17/2016
PHOTOMETRIC	SP-8	PHOTOMETRIC PLAN OKLAHOMA STREET	1/1/2011	2/17/2016